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a What is Managerial Economics? Briefly explain the role of managerial

economics in business decision making
b The demand for a particular product depends on several factors -Discuss.

OR
Evaluate various methods of demand. forecasting techniques

a Explain the significance of Break Even Point (BEP).

b Explain the law of returns with appropriate enamples.

OR
A high-tech rail can carry a ma:rimum of 36,000 passengers per annum at a fare
of Rs. 400.The variable cost per pa{isenger is Rs.l50 while the fixed costs are

25,00,000 per year. Find the break- even point in terms of number of passengers

and also in terms of fare collections.

a E>glain the different methods of pricing.
b Define market and explain features of monopoly.

OR
"Globalization is a means of attaining international standard of living" Do you
agree with this statement?

a The cost of the project is Rs.5, 00,000, Which has an errpected life of five
years. The cash inflow for the ne><t five years are Rs.2,40,000, Rs.2,60,000,

Rs.2,70,000, Rs 2,00,000 and Rs.1,60,000 respectively.
Determine payback period.

b Discuss how'Time value of money''concept is helpful in Capital Budgeting.
OR

Explain the types of Capital Budgeting methods.

N-r-tr
a State the concept of double entry book keeping.
b Write about various qryes of accounts and their nrles governing each account.

OR
A firm's sales during the year were Rs 4,00,000 of which 60 percent were on
credit basis. The balance of debtors at the beginning and end of the year were
25,000 and 15,000 respectively. Calculate debtor's turnover ratio of the firm,

*** END *'r*
also find out debt collection period.
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